JL_

| dentifying Decimal Equation Patterns Name:
Use decimal multiplication and division rulesto fill in the blank. ANnswers
1) x1,000 = 437,900
1.
2) 5,696+10=
2.
3) 981.699x = 981,699
3.
4) 94,799+ =947.99
4,
5) 474.245x1,000 =
5.
6) x100 = 60,240
6.
7) +1,000 = 296.36
7.
8) 21,990+ =219.9
8.
9) +100 = 473.553
9.
10) 365.52x = 365,520
10.
11) 757.465x10 =
11.
12) 62.375x100 =
12.
13) 346,800+ = 346.8
13.
14) +100 = 783.447
14.
15) 946,548+ = 946.548
15.
16) x1,000 = 253,382
16.
17) 53,948+100 =
17.
18) x1,000 = 745,200
18.
19) 153,617+1,000 =
19.
20) 42,552+1,000 =
20.
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ﬂh | dentifying Decimal Equation Patterns

Name:. Answer Key
Use decimal multiplication and division rulesto fill in the blank. Answers
1) 437.9 x1,000=437,900
1 437.9
2) 5,696+10= 569.6
2 569.6
3) 981.699x 1,000 =981,699
- 3. 1,000
4) 94,799+ 100 =947.99
- 4 100
5) 474.245x1,000= 474,245
- 5. 474,245
6) 6024 x100 = 60,240
- 6. 602.4
7) 296,360 +1,000=296.36
— 7. 296,360
8) 21,990+ 100 =219.9
B— 8. 100
9) 47,355.3 +100 = 473.553
©99.3 o. 47,355.3
10) 365.52x 1,000 = 365,520
: S 1,000
11) 757.465x10= 7,574.65
) 1. (,574.65
12) 62.375x100= 6,237.5
) 1. 6,237.5
13) 346,800+ 1,000 =346.8
) — ;51,000
14) 78,344.7 +100 = 783.447
) 783447 1. (8,344.7
15) 946,548+ 1,000 =946.548
) _L000 s 1,000
16 , =
) 253.382 x1,000 = 253,382 6 253.382
17 = =
) 53,948+100= 539.48 17 539.48
1 =
8) 745.2 x1,000 = 745,200 18, 745.2
19 - =
) 153,617+1,000= 153.617 o 153.617
20) 42,5552+1,000= 42.552 20, 42 552
1-10 [95/90(85(80| 75| 70| 65|60 55| 50

[ M ath ] www.CommonCoreSheets.com 3

11-20

45

40

35

30

25

20115101 5( 0




	Worksheet
	Answer Key

